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BapuaHTbl kK 1abopaTopHoi paboTe Ne2

BapuaHTbl K nabopatopHoun paboTte No2

NMepeMeHHasn Ha3HauyeHue 3HayeHue NpeHTudukaTtop
$ N_{bp} $ Homep 6puragsi $ N {6p}$ Nb
OnnHa _
$N3 nocief0BaTeNIbHOCTY $N =30+ N_{6p}\\'\\mod5 $ N
$a=(-1)"{N_{6p}}(0.8 +
$a$ OcHoBaHMe 3KCNOHEHTHI 0.005(N_{6p}\\!\'\mod20)) $ a
AMnanTypa _

$CS rapMOHMYECKOro CUrHana $C=1+N_{6p}\\i\imod> $ ¢

$ \hat{\omega} 0|YacToTa rapMOHN4YECKOrO $ \hat{\omega} 0 = \pi/(6 + WO
$ (pan) curHana N_{6p}\"\'\'\mod5) $

$U$ AMNAnTyaa nMmnynbca $U=N_{6p\"\'\'\mod20 + 1% ]

HavanbHbI MOMEHT _
$no0$ UMY NbCa $n_0=3+N_{6p}\"\"\\mod5 $ no
$n_{imp} $ ANvHa umnynbca $n_{imp} =5+ ?_{6p}\!\!\!\mod5 n_imp
$B1$ A $B 1=15+N_{6p}\'\'\\mod5 $ Bl
MAANTYAb —

$B 253 rapMOHNYECKMX CUrHaI0B $B 2 =57-N_{6phhi\\mod> $ B2

$B 3% $B 3 =22+ N _{6pH\"\"\'\mod5 $ B3

$ \hat{\omega} 1 $ \hat{\omega} 1 = \pi/(4 + wl
$ N_{6pH\"\'\\mod5) $

$ \hat{\omega} 2| YacToTbl rapMOHNYECKUX $ \hat{\omega} 2 =\pi/(8 + W2
$ CUrHasoB N_{6p\'\'\'\mod5) $

$ \hat{\omega} 3 $ \hat{\omega} 3 = \pi/(16 + W3
$ N_{6p}\'"\'\'\mod5) $

$ a_]. $ KO:—)(bd)VILI,I/IeHTbI $ a_l = 15 - N_{6p}\'\'\'\m0d5 $ a].

$a2$ JIMHENHOM KomBuHaumn | $a 2 = 0.7 + N_{6p}\'\'\'\mod5 $ a2

$ a_3 $ rapMoHN4YeCKnX CrHasios $ a_3 =14 + N_{6p}\|\|\|\mod5 $ a3
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